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Kupcarnos M.H. Pemeonuk. Teopernueckas

MexaHHMKa c. 272.

Bapuant 1 b c
\ | \ a=45cM, b =55 cu,
T2 o T c =50 cMm, R =50 cm,
= m1 = 40 kr, ms = 10 KT,
a = 0.1 pag, L =35 cwm,
aC A //E zZ M,=16Hwm t=4c.
/ 7 7.
n
Y2 1 y
Bapuant 2 b c

a=35cM, b=>55cmM,
c =45 cMm, R =45 cm,
m1 = 85 Kr, mg = 18 Kr,
a = 0.17 pag, L = 25 cMm,
M, =1.5Hwm, t =6 c.

Bapuant 3 b c
‘ ‘ ‘ a = 55 cM, b = 65 cwm,
To o1 T ¢ =60 cMm, R =60 cm,
b o m1 = 50 Kr, ma = 18 Kr,
a = 0.14 pang, L = 45 cMm,
@C 4 -’2 zZ M,=17Hwm t=6c.
A .
Y2 o y
Bapuant 4 b B
‘ ‘ ‘ a =45 cMm, b = 55 cwm,
To o1 T ¢ =50 cMm, R =55 cm,
i < m1 = 45 Kr, ma = 6 KT,
a = 0.06 pag, L = 35 cMm,
Vi -’g zZ M,=28 Hm,t =3 c.
« 7. 7.
¢
n
Y2 Y1
Bapuant 5 b B
‘ ‘ ‘ a =35 cM, b = 65 cwm,
T o1 zs ¢=50cum, R =40 cm,
= m1 = 50 Kr, mg = 14 Kr,
=0.13 pan, L =25 cm
A B o : :
ac i Z M,=09HwMmt=5c.
7. 7.

Y2




Bapuant 6 b

c
a=35cM, b=>55cmM,
c =45 cMm, R =45 cwm,
m1 = 45 kr, ms = 10 Kr,
B a = 0.07 pag, L = 25 cMm,
g Z M,=11Hwm t=4c.
BapnaHT 7, c
\ a =30 cm, b = 50 o,
To c =40 cm, R = 35 cm,
m1 = 40 kr, ms = 14 KT,
C B a =0.11 pan, L = 20 cMm,
z_ zZ M,=0.5HwM t=5c.
l .
Y2
Bapuant 8 b c
‘ ‘ ‘ a = 30 cMm, b =40 cwm,
To o1 T c=35cM, R =35 cwm,
o my = 35 Kr, ma = 10 Kr,
a = 0.09 pag, L =20 cMm,
<¥C 4 -’g zZ M,=0.6Hwm t=4c.
/ A .
n
Y2 L y
Bapuant 9 b B
‘ ‘ ‘ a=45cMm, b="T5 cwm,
T o1 ro €=060cM, R =50 cm,
& m1 = 45 Kr, ms = 6 KT,
a = 0.1 pan, L =35 cwm,
% aC /g zZ M,=32Hwmt=3c.
7. 7.
n
Y 1 Yo
BapMaHT 10, c
‘ a=25cM, b=45 cmM,
o c=35cMm, R =30 cwm,
m1 = 5D Kr, ms = 10 KT,
C B a =0.13 pag, L =15 cm,
// g zZ M,=09 Hwm t=4c.
BapMaHT 1, B

}5534

z

a =50 cMm, b =70 cMm,
c =060 cMm, R =55 cm,
m1 = 50 kr, ms = 10 KT,
a =0.12 pag, L =40 cMm,
M, =2.7Hwm, t=4c.




Bapuant 12 b

| | \ a =45 cm, b= T5 ow,
x e xo €=60cM, R =50 cm,

= m1 = 70 Kr, ma = 18 Kr,

=0.18 pan, L =35 cm

A B < ’ ’
ac iz zZ M,=18 Hm,t =6 c.

777 777

\ a =30 cm, b = 50 o,
To ¢ =40 cm, R =40 cwm,
mi = 50 Kr, ma2 = 6 Kr,
B a = 0.07 pag, L =20 cMm,
2z Z M, =1.7 Hwm, t=3c.

77

‘ a =40 cMm, b =70 cwMm,
ro C€=55cM, R=50cm,

m1 = 85 Kr, mz = 10 Kr,

B a = 0.15 pag, L = 30 cm,
4z zZ M,=41Hwm t=4c.

Bapuant 15 b

‘ ‘ ‘ a =30 cMm, b =40 cwm,
To T T c=35cM, R=35cm,
m1 = 30 kr, mg = 10 Kr,
a = 0.08 pag, L =20 cMm,

o

A
aC -’g Z M,=05Hwmt=4c.
/ 7. 7.
n
2y Y
Bapuant 16 b c

‘ ‘ ‘ a =30 cMm, b =40 cwm,
Zo e z c=35cM, R =235 cwm,
m1 = 60 kr, mg = 10 Kr,
a =0.14 pag, L = 20 cMm,

A B
aC zz __zZ M, =1.4Hwm,t=4c.
/ 77 7.
n
Y2 Y1 Yy

Bapuant 17 b

‘ a =35 cM, b =55 cwm,
o c=45 cMm, R =45 cm,
m1 = 50 Kr, mg = 18 KT,
a = 0.1 pan, L =25 cwm,
2 z M, =0.6 Hv, t =6 c.




Bapuant 18 b

a =20 cMm, b =150 cmM,
c=35cMm, R =30 cm,
mi = 955 KI, ma = 6 KT,
a = 0.08 pag, L =10 cm,
M, =1.1Hwm, t=3c.

a=25cM, b=>55cmM,
c =40 cm, R = 35 cm,
m1 = 60 kr, mg = 18 Kr,
a =0.12 pag, L =15 cMm,
M, =0.5 Hm, t =6 c.

a=25cM, b=>55cmM,
¢ =40 cm, R = 30 cwm,
m1 = 30 kr, me = 10 Kr,
a =0.08 pag, L =15 cMm,
M, =04 Hwm t=4c.

a=25cM, b=45 cmM,
c=35cM, R =35 cwm,
m1 = 80 Kr, mg = 18 Kr,
a =0.16 pag, L =15 cMm,
M, =0.8 Hm, t =6 c.

a =40 cMm, b = 60 cmM,
¢ =50 cMm, R =50 cm,
m1 = 85 Kr, mg = 10 Kr,
a = 0.15 pag, L = 30 cMm,
M, =4.1Hwm, t=4c.

a =40 cMm, b="T0 cmM,

ro C€=055cM, R =50 cwm,
my = 65 Kr, ma = 6 Kr,
a = 0.1 pan, L =30 cwm,

L zZ M,=43Hwm t=3c.

Y2




Bapuant 24, b

‘ ‘ ‘ a=35cM, b=065 cmM,
x i xo €=50cM, R =40 cm,
= my = 70 Kr, mg = 14 Kr,

a = 0.17 pag, L = 25 cMm,

A (xc fg zZ M,=16Hwm t=5c.
n
Y Y1 Y2
Bapunanr 25, b c

\ \ \ a=25cm, b =55 cm,
- T zo ¢ =40 cm, R =30 cwm,
mi1 = 25 KI, ms = 14 Kr,
a = 0.08 pag, L =15 cMm,

A B
(xC Zz zZ M,=02Hwmt=5c.
n
Y Y1 Y2
Bapuant 26, b c
‘ ‘ ‘ a =30 cMm, b = 60 cwm,
* o 2 c=45cM, R =35 cwm,
= m1 = 45 Kr, mo = 6 KT,
= 0.1 pan, L =20 cm
A o , s
(xC fg zZ M,=15Hwm t=3c.
7 7
n
Y Y1 Y2

‘ a =40 cMm, b = 60 cmM,
o ¢ =50 cMm, R =50 cm,
m1 = 70 Kr, ms = 18 KT,
B a =0.14 pag, L = 30 cm,
2 Z M, =1.4Hwm, t=26 c.

7.

Bapuant 28, b

‘ ‘ ‘ a=45cMm, b="T5 cwm,
T e ro €=60cM, R =50 cm,
my = 45 Kr, mg = 18 KT,
a =0.13 pag, L =35 cm,

A & B % M,=1Hwmt=6-c.
7. 7.
n
y " Y2
Bapuant 29, b c
‘ ‘ ‘ a =45 cMm, b = 55 cwm,
1

To T ¢ =50 cMm, R =55 cm,
m1 = 60 Kr, ms = 18 KT,

B a =0.12 pag, L = 35 cMm,

2z z M,—=1.3Hwm, t=26c.

O(C 77 7.




Bapuant 30, b

‘ ‘ ‘ a =50 cMm, b =60 cmM,
T2 o T c=>55cMm, R =60 cm,

< m1 = 50 kr, mo = 10 &,
a = 0.08 pag, L =40 cm,

B . M.o—24Hw t=4c

/ ozC 7 7.
n

Y2 L Y




OtBeThl

5

w

Te

Ye

Zc

Xa

Ya

XB

YB

O N O Ul W —

— o
O N O Ul W N — O

19
20
21
22
23
24
25
26
27
28
29
30

0.257
0.154
0.134
0.371
0.185
0.212
0.166
0.236
0.503
0.333
0.295
0.164
0.401
0.356
0.223
0.344
0.097
0.434
0.123
0.254
0.151
0.356
0.496
0.247
0.139
0.501
0.135
0.128
0.115
0.226

1.028
0.925
0.807
1.114
0.923
0.849
0.831
0.943
1.509
1.333
1.179
0.986
1.203
1.423
0.894
1.374
0.582
1.302
0.735
1.016
0.905
1.423
1.489
1.236
0.694
1.502
0.810
0.766
0.691
0.906

0.000
0.000
0.000
4.118
-5.469
0.000
-5.185
0.000
4.118
0.000
0.000
0.000
2.143
0.000
0.000
0.000
0.000
0.984
0.000
0.000
0.000
0.000
2.535
-4.167
-5.385
2.353
0.000
0.000
0.000
0.000

7.000
-4.369
-11.912
0.000
0.000
4.545
0.000
4.444
0.000
2.308
6.667
-7.159
0.000
3.158
5.000
2.857
-6.618
0.000
-3.462
3.750
-2.755
3.158
0.000
0.000
0.000
0.000
-6.136

-10.000

-8.077
6.667

-64.000
44.612
-79.559
-60.294
60.156
45.000
42.963
-46.667
60.882
31.923
61.667
72.614
35.357
53.158
-47.500
-44.286
49.559
28.361
46.923
48.750
33.265
46.316
50.563
54.167
59.103
42.353
52.273
83.571
-65.385
-68.333

-3.227
0.695
2.584
-7.310
-1.713
-0.092
0.566
-1.661
1.858
-0.439
-0.743
-1.155
-0.410
2.001
-1.509
-3.449
0.209
0.748
-0.016
0.121
0.441
0.720
2.813
-3.398
-0.533
1.008
0.511
-0.581
2.699
-2.180

-10.970
1.200
15.953
2.188
0.371
-0.626
-0.136
-5.276
-0.410
-0.838
-1.778
-2.954
0.114
2.780
-4.747
-11.079
0.490
-0.192
-0.764
0.791
0.681
-2.214
-0.630
0.550
0.154
-0.224
1.126
-1.811
8.912
-9.991

2.328
-0.001
-1.495
4.704
4.695
-0.439
1.365
1.189
-6.643
-0.061
-0.436
2.191
-1.326
-3.068
1.062
2.762
0.227
-1.765
0.347
-0.502
-0.034
-1.787
-6.803
8.741
1.546
-3.7156
0.218
1.386
-1.973
1.274

7.271
2.650

-10.682

-1.408
-1.017
-1.177
-0.329
3.496
1.467
-1.829
-3.779
9.077
0.368
-8.854
3.149
7.302
1.034
0.452
2.223
-2.339
1.530
-3.861
1.523
-1.415
-0.445
0.824
2.417
5.510
-5.899
6.710




